UUUUUUUUUU



DEVIALET

INGENIERIE ACOUSTIQUE DE FRANCE

Gecko is an invention from Devialet,
Ingénierie Acoustique de France,
the most awarded company in

audio technologies.

Made in France



fnf To avoid the risk of falling, fire and electrocution,
please read the following instructions carefully.

Any unauthorized modification could compromise your safety and prevent the
device from being used as intended.

If you experience any problems, please consult an expert.

For your safety, make sure that a disconnecting device (switch or circuit breaker)
is installed and easily accessible.

In a thunderstorm, turn off the power supply.

Make sure that your electrical installation complies with all the electrical standards
applicable in your country.

— Make sure that the wall on which the Gecko wall mount is to be installed is level,
smooth and vertical.

— Make sure that the wall on which the Gecko wall mount is to be installed is not
damaged and is able to support 22 Ibs. at the fixing point.

— Only use the screws and dowels provided by DEVIALET for fitting the GECKO.
— For each mount type, use the screw and dowel combination stated below.

— When drilling into the wall, make sure that the drill bit has the correct diameter
and is suitable for the mount.

— Itisimportant that the screws are secured to the wall properly to ensure that
the device is held in place.

— Installation should always be carried out by two people. ﬁﬁ



g

N

-~
(S5

PACK CONTENTS

— Assembled Gecko

— Ix screw for fixing the Phantom on to the Gecko
— 4x dowels for solid materials

— 4x screws for solid materials

— 4x dowels for hollow materials

— 4x screws for hollow materials

— 4x screw covers



INSTALLATION

STEP1

Take all the components out of the box and remove the packaging.

STEP 2

To fix the Gecko to the wall, place the drilling
markings on the wall with the aid of the product.

STEP 3

Drillinto your wall, paying close attention to the instructions on the following pages.



1 — Walls made of solid material (natural stone, concrete, aerated concrete,
solid brick, drywall) or concrete blocks:

4 dowels 5/16” x 2 1/4”

4 screws 3/16” x2”
D L8880 ARRRRRRIAEEI 1 0

Drilling depth (minimum): 2 3/8”
Drilling diameter: 5/16”

& Ensure that neither the screw nor the dowel spins freely in the hole.

2 — Walls made of solid wood:

4 screws 3/16” x 2”
D L1188 8RRAAEEIS AT RRRI L 20

Drilling depth (minimum): 2”
Drilling diameter: 3/32”



3 —1/2” drywall :

4 dowels 3/8” x 2”

4 screws 3/16” x 2”

b )

Drilling diameter: 5/16”

® @
AANNNNN\NY =——F1 1

® = @
A Ensure that neither the screw nor the dowel spins freely in the hole. Do not fix to hollow
brick. If you do not feel confident or have not understood the contents of this manual, do not
fit the Gecko wall mount and seek the help of a professional.

Attention:
Do not fix the Gecko to a wall made of drywall less than 1/2 inch thick.




STEP 4

Screw the Gecko onto the wall as tightly as possible using the correct screws, then

conceal the latter with the screw covers.




STEP 5

O O
Installation should always be carried out by two people. [\—ﬂ@

Place the Phantom on the Gecko, then tighten the screw provided as far as it will go in order
to lock the Phantom on its mount. Attention: The prescribed tightening torque is 44 Ib-in.
Attention: If people are going to be walking under the GECKO, we recommend fixing the

Phantom in place using a steel wire as shown in the image.

— Make sure that you keep hold of the Phantom during the procedure.
— To avoid damaging your Phantom, do not handle it by the speakers.

(O

— Make sure that the Phantom is not plugged in during fitting.

STEP 6

Plug in your Phantom.



Note: You can adjust the angle of your Phantom as desired (up to +/- 110°).

Attention: After changing the position, ensure that the fixing screw is still tight.

Note 2: You can paint the Gecko to match the matte black of the Phantom; the color code is
RAL 9005.

Oops! Do you need help?

Go to: help.devialet.com

2-YEAR
WARRANTY

Find out more at www.devialet.com



DEVIALET

INGENIERIE ACOUSTIQUE DE FRANCE

Gecko est une invention Devialet,
Ingénierie Acoustique de France,
I'entreprise la plus primée au monde pour

ses technologies d’excellence dans le son.

Fabriqué en France



i ' E Pour éviter tout risque de chute, incendie et électrocution,

veuillez vous assurer que les instructions suivantes sont bien comprises.

Toute modification non autorisée pourrait compromettre votre sécurité ainsi qu'une
utilisation normale de I'appareil.

En cas de probleme, veuillez consulter un expert.

Pour votre sécurité, assurez-vous qu’un dispositif de sectionnement (interrupteur ou
disjoncteur) est installé et facilement accessible.

En cas d'orage, couper le courant.

Assurez-vous que votre installation électrique respecte toutes les normes électriques
applicables dans votre pays.

— Assurez-vous que le mur sur lequel le support mural Gecko sera installé est plan,
lisse et vertical.

— Assurez-vous que le mur sur lequel le support mural Gecko sera installé est non
détérioré, et qu'il est capable de soutenir 10 kg par point de fixation.

— Utilisez uniquement les vis et chevilles fournies par DEVIALET pour le montage

de GECKO.
— Pour chaque type de support, utilisez la combinaison VIS+CHEVILLE indiquée

ci-dessous.

— Au moment de percer le mur, assurez-vous que le foret est au bon diamétre et
adapteé au support.

— Veillez a correctement visser les vis sur le mur pour assurer le maintien.

[e}6)
— Faites toujours l'installation a deux personnes. ﬂﬂ



- LS
Jl
e

CONTENU DU PACK

— Gecko assemble

— 1x vis de fixation de Phantom sur Gecko
— 4x Chevilles pour matériaux pleins

— 4x Vis pour matériaux pleins

— 4x Chevilles pour matériaux creux

— 4x Vis pour matériaux creux

— 4x caches vis



INSTALLATION

ETAPE 1

Sortez et déballez tous les composants du pack.

ETAPE 2

Pour fixer Gecko au mur, placez des marquages

de pergage sur le mur a l'aide du produit.

ETAPE 3

Percez votre mur en suivant précisément les instructions indiquées sur les pages suivantes.



1 — Murs en matériau plein (pierre naturelle, béton, béton cellulaire, brique pleine,

carreau de platre plein) ou en parpaing béton :

4 Chevilles @8 x 52 mm

4 Vis @5 x 50 mm
D L8880 ARRRRRRIAEEI 1 0

Profondeur de pergage (minimum) : 60 mm

Diametre de percage :8mm

& Vérifier que ni la vis ni la cheville ne tournent dans le vide.

2 — Murs en bois massif :

4 Vis @5 x 50 mm
D L1188 8RRAAEEIS AT RRRI L 20

Profondeur de pergage (minimum) : 50 mm

Diameétre de pergage :2mm



3 — Plaques de platre de 13 mm :

4 Chevilles @10 x 50 mm

]

4 Vis M5 x 50 mm

b )

Diametre de percage :8mm

® @
AANNNNN\NY =——F1 1

® = @ %
A Vérifier que ni la vis ni la cheville ne tournent dans le vide. Ne pas fixer sur brique creuse.
Si vous n'étes pas siir de vous ou si vous n’avez pas compris le contenu de cette notice, ne montez
pas le support mural Gecko et adressez-vous a un professionnel.

Avertissement :
ne pas fixer Gecko sur un mur en plaque de platre de moins de 13 mm d’épaisseur.




ETAPE 4

Visser au maximum le Gecko sur le mur avec les bonnes vis puis les recouvrir avec

les caches vis.




ETAPE 5

0O
Faites toujours I'installation a deux personnes. ﬂﬂ

Placez Phantom sur Gecko puis vissez au maximum avec la vis fournie pour verrouiller Phantom sur
son support. Avertissement : Le couple de serrage doit étre de 5 N.m.
Avertissement : S'il est prévu que des personnes circulent sous GECKO, nous recommandons la

fixation de Phantom via une élingue en acier, comme montré dans I'image.

— Assurez-vous de tenir Phantom pendant la durée de I'opération.

— Afin de protéger votre Phantom, ne le manipulez pas par les hauts-parleurs.

— Assurez-vous que Phantom ne soit pas électriquement branché pendant la pose.

ETAPE 6

Branchez électriquement Phantom



Note : Vous pouvez choisir I'orientation de votre Phantom (jusqu’a +/-110°)

Avertissement : Aprés un changement de rotation, vérifiez que la vis de fixation reste bien serrée.

Note 2 : Vous pouvez peindre Gecko pour que sa couleur soit identique a celle de Phantom

Matte Black; la référence de couleur est RAL 9005

Ooops ! Besoin d’aide ?

Rendez-vous sur : help.devialet.com

2 ANS
GARANTIE

Plus d’informations sur www.devialet.com



DEVIALET

INGENIERIE ACOUSTIQUE DE FRANCE

Gecko ist ein Produkt aus dem Hause
Devialet, Ingénierie Acoustique de
France, das aufgrund seiner
herausragenden Sound Innovationen
am haufigsten ausgezeichnete
Unternehmen der Welt.

Hergestellt in Frankreich

DEUTSCH



2

i ' E Zur Vermeidung von Stiirzen, Feuern oder Stromschlagen, lesen Sie bitte
die folgenden Anwendungshinweise sorgfaltig durch.

Jegliche Abweichung von dieser Anleitung kann lhre Sicherheit sowie die
ordnungsgemafle Funktion des Gerates beeintrachtigen.

Bei Problemen kontaktieren Sie bitte eine Fachkraft.

Beachten Sie zu lhrer Sicherheit bitte, dass ein Sicherungskasten (Stopp-Schalter
oder Trennschalter) vorhanden und leicht zuganglich ist.

Trennen Sie bei Gewitter bitte das Gerat vom Strom.

Uberprijfen Sie bitte, ob lhre Elektrik alle geltenden Vorgaben in Ihrem Land
erfillt.

— Versichern Sie sich bitte, dass die Wand, an der die Wandhalterung fiir den
Gecko befestigt wird, gerade, glatt und vertikal ist.

— Versichern Sie sich bitte, dass die Wand, an der die Wandhalterung fir den Geko
befestigt wird, nicht beschadigt ist und 10 kg pro Befestigungspunkt tragen kann.

— Verwenden Sie ausschlief3lich die Schrauben und Dubel, die lhnen von DEVIALET
fir die Befestigung des Gecko zur Verfiigung gestellt wurden.

— Fiir jeden Befestigungstyp verwenden Sie bitte die unten angegebene Kombination
von SCHRAUBE und DUBEL.

— Bevor Sie das Loch in die Wand bohren, tberpriifen Sie bitte, ob der Bohrer den

richtigen Durchmesser hat und passend fiir die Halterung ist.

—DrehenSiedieSchrauberichtigindie Wandein,damitdie Halterungfestangebrachtist.

[e}6)
— Flihren Sie die Montage immer zu zweit durch. ﬂﬂ



BEINHALTETES MATERIAL

— Gecko montiert

— 1x Befestigungsschraube fiir den Phantom auf dem Gecko
— 4x Dubel fir massive Materialien

— 4x Schrauben fir massive Materialien

— 4x Dubel fur hohle Materialien

— 4x Schrauben fir hohle Materialien

— 4x Schraubenabdeckungen



3

MONTAGE

SCHRITT 1

Nehmen Sie alle Zubehorteile aus dem Paket und packen Sie sie aus.

SCHRITT 2

Um den Gecko an der Wand zu befestigen,
platzieren Sie die Bohrmarkierungen auf der Wand, an

der das Produkt angebracht wird.

SCHRITT 3

Bohren Sie die Locher genau wie auf den folgenden Seiten angegeben.




1 — Wande aus massivem Material (Naturstein, Beton, Porenbeton, Backstein,

Gipskarton) oder aus Betonstein :

4 Dibel @8 x 52 mm

4 Schrauben @5 x 50 mm
D L8880 ARRRRRRIAEEI 1 0

Bohrtiefe (mindestens) : 60 mm

Bohrdurchmesser : 8 mm

& Stellen Sie sicher, dass weder der Diibel noch die Schraube ins Leere drehen.

2 — Massivholzwande :

4 Schrauben @5 x 50 mm
D L1188 8RRAAEEIS AT RRRI L 20

Bohrtiefe (mindestens) : 50 mm

Bohrdurchmesser :2mm



25

3 — Gipskartonplatten 13 mm dick :

4 Dibel @10 x 50mm

]

4 Schrauben M5 x 50 mm

b )

Bohrdurchmesser : 8 mm

® @
AANNNNN\NY =——F1 1

® = @
A Stellen Sie sicher, dass weder der Dubel noch die Schraube ins Leere drehen. Nicht auf Hohlsteinen
befestigen. Wenn Sie sich nicht sicher sind oder die Inhalte dieser Anleitung nicht genau verstanden haben, montieren
Sie die Wandhalterung fiir den Gecko bitte nicht, sondern wenden Sie sich an eine Fachkraft.

Warnhinweis :
Befestigen Sie den Gecko niemals auf einer Gipskartonwand mit weniger als 13 mm Starke.




SCHRITT 4

Schrauben Sie den Gecko mit der richtigen Schraube so fest es geht an der Wand an.
Dann bringen Sie die Schraubenabdeckungen an.




27

SCHRITT 5

00
Fiihren Sie die Montage immer zu zweit durch. [|?[|_|)

Platzieren Sie den Phantom auf dem Gecko und schrauben Sie ihn mit der beigefligten Schraube
so fest es geht an, um den Phantom auf seiner Halterung fest zu verankern.

Warnhinweis : Der Drehmoment muss 5 Nm betragen.

Warnhinweis : Wenn zukiinftig Personen unter dem  Gecko hindurchlaufen, empfehlen wir,

die Befestigung des Phantom mit einer Stahlhalterung, wie unten abgebildet, vorzunehmen.

— Halten Sie den Phantom wahrend der Montage immer gut fest.
— Um lhren Phantom nicht zu beschadigen, halten Sie ihn nicht an den

ey

— Achten Sie darauf, dass der Phantom wahrend der Montage nicht an das Stromnetz

angeschlossen ist.
SCHRITT 6

Schlieen Sie den Phantom an die Stromversorgung an.



Hinweis: Sie kénnen die Ausrichtung lhres Phantom wahlen (bis zu +/-110°)

Warnhinweis : Wenn Sie die Ausrichtung geandert haben, iberpriifen Sie bitte, ob die
Befestigungsschraube immer noch fest angezogen ist.

Hinweis 2: Sie konnen den Gecko anstreichen, damit er dieselbe Farbe wie der Phantom

schwarz matt hat; die Farbspezifikation hierfir ist RAL 9005.

Ups! Brauchen Sie Hilfe?
Gehen Sie auf: help.devialet.com/hc/de

2JAHRE
GARANTIE

Weitere Informationen auf www.devialet.com/de-de



DEVIALET

INGENIERIE ACOUSTIQUE DE FRANCE

Gecko es una creacion de Devialet,
Ingénierie Acoustique de France, la
empresa mas galardonada del mundo
por la excelencia de su tecnologia

sonora.

Fabricado en Francia

ESPANOL



30

i ' E Para evitar cualquier riesgo de caida, incendio y electrocucién,

lea con atencién las instrucciones siguientes.

Toda modificacion no autorizada podria comprometer su seguridad y el
funcionamiento del aparato.

Ante cualquier problema, consulte con un experto.

Para su seguridad, compruebe que su instalacion eléctrica cuenta con un dispositivo de
desconexion (interruptor automatico o disyuntor) de facil acceso.

En caso de tormenta, corte la corriente.

Compruebe que su instalacion eléctrica cumple con la normativa eléctrica
vigente en su pais.

— Compruebe que la pared en la que vaya a instalar el soporte de pared Gecko sea
plana, lisa y vertical.

— Compruebe que la pared en la que vaya a instalar el soporte de pared Gecko no
esté danada y pueda soportar 10 kg por punto de fijacion.

— Utilice exclusivamente los tornillos y tacos de DEVIALET incluidos con el kit de

montaje de GECKO.

— En funcién del tipo de pared, elija una de las COMBINACIONES DE TORNILLOS
Y TACOS que se indican a continuacion.

— Antes de taladrar la pared, compruebe que la broca sea del diametro y el tipo
adecuado.

— Compruebe que los tornillos estén correctamente fijados a la pared para
garantizar una buena sujecion.

(o))
— Realice la instalacion entre dos personas. ﬂﬁ_ﬂ



- LS
Jl
e

CONTENIDO DEL KIT

— Gecko (premontado)

— 1tornillo de fijacion (para fijar Phantom a Gecko)
— 4 tacos para materiales macizos

— 4 tornillos para materiales macizos

— 4 tacos para materiales huecos

— 4 tornillos para materiales huecos

— 4 tapones embellecedores



2

INSTALACION

ETAPA1

Saque todos los componentes del kit y retire el envoltorio.

ETAPA 2

Para fijar Gecko a la pared, marque los puntos

de fijacion utilizando el producto como plantilla.

ETAPA 3

Para taladrar la pared, siga al pie de la letra las instrucciones de las paginas siguientes.



1 — Paredes de material macizo (piedra natural, hormigon, hormigon en celda,
ladrillo macizo, panel macizo de yeso) o bloque de hormigén :

4 tacos @8 * 52 mm

4 tornillos @5 x 50 mm
D L8880 ARRRRRRIAEEI 1 0

Profundidad de perforacion (minimo): 60 mm

Diametro de perforacion : 8 mm

& Comprobar que el tornillo y el taco no giren en el orificio.

2 — Paredes de madera maciza

4 tornillos @5 x 50 mm
D L1188 8RRAAEEIS AT RRRI L 20

Profundidad de perforacion (minimo): 50 mm

Diametro de perforacion :2mm



34

3 — Paredes de yeso de tipo Pladur de 13mm

4 tacos @10 x 50 mm

4 tornillos M5 x 50 mm

b )

Diametro de perforacion: 8 mm

® @
AANNNNN\NY =——F1 1

® = @
A Comprobar que el tornillo y el taco no giren en el orificio. No fijar en ladrillo perforado.
Si no esta seguro de haber entendido bien la informacion de este manual, no instale el soporte
de pared Gecko y acuda a un profesional.

Precaucion:
No fijar Gecko en paredes de yeso de tipo Pladur de menos de 13 mm de espesor.




ETAPA 4

Fije Gecko a la pared con los tornillos adecuados, apriételos al maximo y coloqueles

los tapones embellecedores.




36

ETAPA S

O O
Realice la instalacion entre dos personas. [|_|][\—|]

Coloque Phantom sobre Gecko y apriete al maximo el tornillo de fijacion para fijar Phantom al
soporte. Precaucién: El par de apriete debe ser de 5 N-m.
Precaucion: Siinstala Gecko en alto en un lugar de paso de personas,

recomendamos fijar Phantom con una eslinga de acero, como en la imagen.

— Sujete bien el aparato durante la instalacion.

— Para no dafar su Phantom , no lo agarre por los altavoces.

(O

— Compruebe que Phantom no esté enchufado a la red eléctrica durante la instalacion.

ETAPA 6

Enchufe Phantom a la red eléctrica.



Nota: Puede cambiar la orientacion de su Phantom en un angulo de +/- 110°.

Precaucion: Compruebe que el tornillo de fijacién esté bien apretado cada vez que
cambie la orientacion.

Nota 2: Si desea pintar Gecko del mismo color que su Phantom Matte Black,
busque la referencia RAL 9005.

¢Necesita ayuda?

Consulte help.devialet.com

2ANOS
DE GARANTIA

Mas informacion en www.devialet.com



DEVIALET

INGENIERIE ACOUSTIQUE DE FRANCE

Gecko & uma invencao da Devialet,
Ingénierie Acoustique de France,
a empresa mais premiada do mundo
pelas suas tecnologias de exceléncia

no campo do som

Fabricado em Franca

PORTUGUES



3

fnf Para evitar qualquer risco de queda, incéndio ou eletrocussao,

por favor certifique-se de que compreende as seguintes instrugoes.

Quaisquer modificagdes nao autorizadas podem comprometer a sua seguranga e a
utilizagdo normal do dispositivo.

Em caso de problemas, consulte um especialista.

Para sua seguranga, certifique-se de que um dispositivo de isolamento (interruptor
ou disjuntor) esta instalado e pode ser acedido facilmente.

No caso de uma tempestade, desligue a corrente elétrica.

Certifique-se de que a sua instalagao eléctrica respeita todas as normas eléctricas
aplicaveis no seu pas.

— Certifique-se de que a parede de instalagdo do suporte do Gecko & plana, uniforme
e vertical.

— Certifique-se de que a parede de instalacdo do suporte do GECKO

nao esta danificada e que pode suportar 10 kg por ponto de fixagao

— Utilize apenas os parafusos e buchas fornecidos pela DEVIALET na montagem
do GECKO.

— Para cada tipo de suporte utilize a combinagao de PARAFUSO+BUCHA

representada abaixo.

— Ao perfurar a parede, certifique-se de que a broca possui o diametro correto e
encaixa no suporte.

— Certifique-se cuidadosamente de que os parafusos estdo devidamente
aparafusados e fixos na parede.

(o))
— Faga sempre a instalagdo na companhia de uma segunda pessoa. (I?[I_P



CONTEUDO DA EMBALAGEM

— Gecko ja montado

— 1x Parafuso de fixagao do Phantom no Gecko
— 4x Buchas para materiais solidos

— 4x Parafusos para materiais solidos

— 4x Buchas para materiais ocos

— 4x Parafusos para materiais ocos

— 4x Tampas de rosca

40



]

INSTALACAO

PASSO1

Remova e desembale todos os componentes da embalagem.

PASS02

Para fixar o Gecko coloque as marcas de

perfuragao na parede usando o proprio produto.

PASS03

Perfure a parede de acordo com as instrugdes nas paginas seguintes.



1 — Paredes feitas de material sélido (pedra natural, betdo, betdo celular, tijolo
macico, placas de gesso macigo) ou bloco de betao:

4 Buchas @8 x 52 mm

4 Parafusos @5 x 50 mm
D L8880 ARRRRRRIAEEI 1 0

Profundidade de perfuragao (minima): 60 mm

Didmetro de perfuragao : 8 mm

& Certifique-se que o parafuso e a bucha ndo rodam no vacuo.

2 — Paredes de madeira maciga:

4 Parafusos @5 x 50mm
D L1188 8RRAAEEIS AT RRRI L 20

Profundidade de perfuragao (minima): 50 mm

Diametro de perfuragao :2mm

42



43

3 — Placa de gesso cartonado de 13 mm:

4 Buchas @10 x 50mm

4 Parafusos M5 x 50mm

b )

Diametro de perfuragao: 8mm

® @
AANNNNN\NY =——F1 1

® - @ %
A Certifique-se que o parafuso e a bucha nio rodam no vacuo. Nao fixar em tijolo oco.
Caso ndo se sinta confiante ou se ndo compreendeu as instrugdes neste manual, ndo monte o
suporte de parede do Geck oe consulte um profissional.

Aviso:
Nzo fixar o Gecko a uma parede de gesso cartonado de espessura inferior a 13 mm.




PASSO4

Aparafuse o Gecko na parede o maximo possivel com os parafusos corretos

e cubra-os com as tampas de rosca.

[



45

PASS05

O O
Faga sempre a instalagao na companhia de uma segunda pessoa. [|?[|_|]

Coloque o Phantom no Gecko, de seguida aperte o maximo possivel com o parafuso fornecido
para fixar o Phantom no suporte. Aviso: o binario de aperto deve ser de 5 N.m.

Aviso: Em caso de utilizagdgo do GECKO, recomendamos que o Phantom seja fiaxdo com uma

funda de ago, como representado na figura.

— Certifique-se de que segura bem o Phantom durante toda a operagéo.

— Para proteger o seu Phantom , ndo o manuseie através dos altifalantes.

w(Op

— Certifique-se de que o Phantom nao esta ligado a eletricidade durante a instalagao.

PASS06

Ligar o Phantom a eletricidade.



Nota: Pode escolher a orientagao do seu Phantom (até +/- 110°).

Aviso: Apés uma mudanga de rotagdo, verifique se o parafuso de fixagdo permanece apertado.

Nota 2: Pode pintar o Gecko para que combine com a cor do Phantom Matte Black;
a referénciade coré RAL 9005.

Ups! Precisa de ajuda?

Visite-nos em: help.devialet.com

2ANOS DE
GARANTIA

Para mais informagdes visite www.devialet.com

[



DEVIALET

INGENIERIE ACOUSTIQUE DE FRANCE

Gecko 32EEZ T\ &k Devialet gy
%85, Devidlet th 2R FRFmME
AR HEE TR R R Z A F.

EEBIE

AL



]

A BRI, RAFME MR, SRR SR TS,

EMAREENNLHN DA R R ENREFNRENESEM.
WERE, BFERER.

ATENRS, BHRERRETHBEE (FFASMER) FEEFEMR.
IMBRNW, BEXHEEIR.

IR BE RSB ER R/ MK AT AIE AR k.

— IR RRCECKOBE X RAIHREF B EH

— MIRRFLCECKORESRNIFER IR, HESMEERREBIE
1028 7o

— {XfsE FDEVIALETIR (A 4R 22 FnH £ sk 22 3 GECKO.

— XN FRMMRANERE, BHEATHRRRRZMHETAS.
— BN, MIREANEREHIFERTHE.

— FUWLAERT RITRIEEE AR Z DR IR E E .

O O
— SRFHIA—REE. (]



‘@ -

=

BERA

— Gecko 42

— IMATFH Phantom 23 5|Gecko E iR 22
— 4 AT RO R ST

— AP TR RIR IR 22

— AN ATFE O RIREET

— AN ETE O RIREZ

—ANEZZE

49



50

ZIER]

BHIHTH BN EA .

TR

THGECKOTM LR, LM L HIFSTLIR
2.

T3

ThIIE AR R IR T I AR I TR 1R




1 —sbibil (R&AEM, Bt #EsRREL, L0, E0a5H)
B RS L R AR EE

4 NE1R8 x S2Z K ET

ANER5 X 502 KRR
[ 111093188811 883 1800180131000 15+

SHILRE (m/ME) @ 60 =K
HILER: 8%K

& BERLNHETIRESR P,

2— JksE:
40 E1R5 X 50 K pyiE s
EEreeirr T

HIURE (BvIME) @ 50 =K
SHFLER: 28X



52

3— 1IBERMAFRIE:

4 A E1R10x 50K 45T

]

4 NM5 x 502 K i 24

D IJ

SR ER: 8EK

0) @
ANNNNN\NNY =1 1

®F7 =» @%
E; k A
/\ pERERETRS EE RN, FEESLR RS, NRCTHES

CREBZEATTIARTIAE, HIRRECECOBERRIFNELL

f=c4t= S
=5
FEHGECKOR BT BE/NF 1SRN EEHIE L.



TRA

FAIEMmNB2ZEGCeckoR KRG EIHTEIRE, RERABRLEST.




54

TIRS

OO
FUAPA—RZH. [I_!][I?

fBPhantom %#F|Gecko b, AfE MMM MIZEZITEIRE, MEPhantom $iE
EHXRE. BE: TEHAELTASNm.

=& MRAITREECECKOZENMNETARY, HIEWEITNGBRRE
Phantom, & fR.

— WIRTERMERRE#E ZPhantom
— AT HRPEHPhantom , BERBERSNEIEF BHES.

(O

— WiRERFEEREFREGERERR.

TS

#E@Phantompyr &



=
=

EE MR AER, BRERRBLRERTE.

REBIRR2: HRIMRIGECKO, {EHHIE 5Phantom Myt &5 .
s%E2: RAL9005

Bt HEEN?

BB
https://help.devialet.com/hc/zh-cn
2 4
I_1E

FEZEAENAEwww.devialet.com



DEVIALET

INGENIERIE ACOUSTIQUE DE FRANCE

Gecko ££EZZ£ T2 Devialet gyZEHe
Devidlet 27 Z 14838 P & s E Al ET
R

EERE



57

A BEGIER  EAMEENER - SRR T B THERRE -

EARERENEIRET R EN R EURRMNESEA -
MEEMERE  FHEEEAL -

RTENZZE > FREARETERHMAKE GIERERKR) - AEKE
NRERARET R R o

IBREN - FRAER -
FRERENENEERENSEMAERR/RME HE HRE -

— AR R L HECECKOBEH ST 200 - fEEE R 5
KRBEHEEMN -

— FAMERZLSCCECKOBE M SIARRY - 55 I FIRIR B S EEER AT LSS
10RfT -

— {EBRIDEVIALETHE EAYERAA ST I AR IR 44 5k T R GECKO -

— RERAEEENZE  FIRRA TR SRR IRRAE SR -
— R AR BT EMIE AR -

— R RIRAET - DREREEAREL -

O O
— L EEA RS ER - ()



2SN

— Gecko /%

— IxFHtGecko _EPhantom & E#g 44T
— AXERE OB IRIE 4

— AXFHRE OB R IR A4 ET

— AXFRE OB IR IR 4%

— AXFR T O AR HIER A4 ET

— AX BRAAEHE



59

- H4
|22 3¢

TE
SRS I A A -

TE2

1§ GECKOE E M LRI » REAFIL 2 M N E S
EISEFLARRE -

T8 3

FRIBA TR R IR -




— BOB(RARH  REL MEERL BoE A8EW) BUKRE

= E:

AR ARIR 44 D8 x 528K

AERR 44 ETDS5 x 50Z K
[ 111093188811 883 1800180131000 15+

HWILRE (/) 160K
HALER 8%k

[\ S TR AR T S WA o

— BRI
AEMRL4ETD5 x 502K
EEreeirr T

IR (BN 1 508K
HFLEAT 28K



61

3— I3 EREMAEWME

4 [ERZARIZ44D10 x 503K

]

AEIZ A4 ETMOX 50Z kK
D ﬂ
HEILEK 82K
p— - @
(=71 <«
AT IR A ET FARY PRIZ A4 AT EAY B - RHEREERZEOHE - NRE

iﬁ?ﬁﬁﬁim?‘?ﬁ@$%ﬂﬂﬁ‘]l’qﬁ TE#%GECKOE&:{‘I% WEEAHEEA

g
FEHCECKOREEEE/NRISEXMAFRML -



T ER4
R BT Gecko BRI L1 » BRBMIARL -




63

TES

oy
BELEmEAZELES - 100]

#§Phantom EitGecko L - &% FBAM I EIEIR44ET B 112 R » Ii#§Phantom €4
RESHIRL - B RROTERELERS Nm (FEK).

B MRREEASHISH - RIREEAPhontom KEHAREEGECKOE
B MEFR -

— BERL &R - EfEPhantom E& -
— BT REEHNPhantom E& - FAEZERZATHEEBRIE -

WO

— AR LEE > Phantom E& I EFE TR -

TS

$Phantom EJEHE L -



EE  EAUREPhantom WiEE A (AE&XE/-110E)

g5 AREEAEE  SREERBAITEERY -

EE2 BB GECKOZ FH#iPhantom Matte BlacktEE RYBEE:
EEB R IERAL 9005

W F! SR ?
R -
help.devialet.com
pis
RE

FEL S 4B hitps://www.devialet.com/zh-tw/



DEVIALET

INGENIERIE ACOUSTIQUE DE FRANCE

Gecko & HoJW AF-E Hl A EZ A2 A7 of| A
A= 2P 5 389 t27]¢] Devialet 7F
g Sk A Yt

Made in France



o

bR Qg gk ghA) Ty 7ha ) 919 S WA e 9 s,
A el ofef o] FAAEE F3] HA8HA 7] Ry T

S7h 9l0) AFE WY A AHg At G AF] PR
AHge ARG 5 g

BAVE 91 A9 AEAS] A7) vt

WA Aol 290 ] A% vl sl e

W§ A A el Yel g Tk ALE AR A7) Al A% )

A7)0 7187 el FEatolof ot
— GECKOE AA & ¥wio] g sv] vj1ridar, 29174 elstilAl L.

— GECKOE A A& W2 &2do] glojok st g H vt} 10 kgs A
3k = glojof

— GECKO Phantom A2 A o= HF=A] DEVIALET A Al &dk= 28
& FhpAbTE AFE-8EA] 7] BEshy T}

— GECKO Phantom & 478 ¥yl 41l nje} 18 2 Ao #1419
23 JA} 258 ALEaRIA

AN R MR ECEREE SR EE PSS
A #1814l 2.

N

— AlE) A AA S S8l waE el Skl A skl AL



TAE )

— ZH ¥ Gecko

— 1x Gecko®ll #2}3}= Phantom 127§ YA}
— 4x Fo] I AAE 2B Y

— 4x o] Z AAE A}

— 4x &o] §l AAE 2By

— 4x %ol ®l AA & YA

— 4x YAF S



68

27

GECKO= A A8k7] Ao, A& wwel
o 7S BE AE BAAA L.

3A




1 — %ol 2 Az B ¥E (A AA, 227
NP, dheket A ) i 2 E S

A 47 @5 x 50 mm

[ 111093188811 883 1800180131000 15+

T Zlo] (H4) : 60 mm
4 A4 ;8 mm

AL 47 @5 x 50 mm
D IELEL11808 0888 0RRRRRIIIELL 12

Zo] (#4) : 50 mm
7 : 2 mm

of of
]

R

L]._L
.'}L

rH



70

3—13mmAi1RE

28 47) 010 x 50mm

]

YA 470 M5 x 50 mm

] )

T4 A7 . 8 mm

® @
AaANNNN\N\Y =——F1 1

® -»> @ %
IE'; k /
/N Gy s o) 8154 A 1IN S, 40) W el 25
OHIA S, Aol QA o] 45 VS oldsh] olel e A
L ETSRtE R RIE P p o B WP e

9
GECKOEF7113mm v]WFo| 4] a5 = v of 4 %] sp A up4] A] ..




4 A

otute YALE HUZ %o GeckoE Bl a1
A GAE A L.

& 7,



n

5%HA

OO0
e 2910] o] ARt 2. ()

Phantom EGecko$] ol &%
T2 A EIE5 Nomsl Y

Al TGS ol Sl H T 2204 Al &

.

F9: Geckool W ZALE-A7Hg Al oF8h=7 §-, Phantom Eolel 17 73
BRI TAFAAA L.

— A ] 3}= %< Phanto
— Phantom & H.33}7]¢

(O

#B

AREAGAHA L.

23PN 2

— g)3H= %<F Phantom 913 fl0] A H 0] Q1A S E T 0l 514 2.

67|

Phantom 2] Y-S A 434 A 2.

o7



FoAFUTE (+/- 110" )b

R S EOEE AR ECEDESE NP

Ak 2 Phantom™lE 58 Ao W30iGECKOS A~ A ah 355
Yk (MW FRAL 9005)

FaAsre=drt?
A AE: help.devialet.com
27k
3L =
4 BT

SLA S
FAEs

E 9 o) Alwww.devialet.com



DEVIALET

INGENIERIE ACOUSTIQUE DE FRANCE

FICEb3E- LI TR
)—RIBITZVADA—T4F-
X—H—.Devialettt H'FAFL 7=

Gecko

R=ReA2 T3V



75

BT AKX BREEHIOHIC TROZFRFEZ LoD esHR
HLIEELY,

FALCEELIIZE. - —DREELUREDHELERICES TN
BBTNLBDET,

RIRED'HE LIIBRIZ BFIRFICTHATIE I L,

BEDID RV FEETL—NT—DFORMEICH B L 2fERLT
{FEEL

BNVPERANDETIERMyF =)o TLIEEL,

BREM (AR 2REITIRE BFEVICEIEDOELREREIES
LTWB I =L TR T,

— EEENTGECKOZERDTIT3EM . EETFESTHB L ERRBL T
[I\O

— BHMNT GECKOZERDIIFTBEIEA D IRBTBH 10kg D & &I it
Z5NB MR LTET L,

— GECKOD#AHII THICHBENTWVWADEVIALETHOR L ER—RT7Y
H—DHZEERLTITEEL,

— EBEENFICIEI U TICRE#HINTVWB MR L ERILM DA EDEZTF>
TLIEELY,

E_E BINEBITBBRIT RUILDEROASS CERFICELTWAI %
BLTLET L,

— B CRLZEDFITBEIE Lom D EEELTLIE T L,
(o))
— RIS T TATIT TSV, ()



REY

— GeckoA &

— GeckolcPhantom ZEOffIF 3R L1A
—BULEMICESR—RT7>h—4K
—BOEMICES R LAE
—KIFHDHBZEMIESR—RT7oh—4K
—LIFHDHZREMIESRLAK

— R LEMAE



7

EOfF(T

FlE 1

HeEIT PEEIRNTROHELES

FIlE 2

GECKOZEEICEXD T BRI N ZRIT 3
BRICASmEESTHENZDIFTTIE SV,

FE 3

UTFDOR=JICEHRENBHBELRATEICNEZRIT TS,



1—BVWEM (RAR. OVII)—-MKREaAVIV— M LU,

ABR-FICEDHIF2C)) OEX 3OV 0U—- 7Oy IDEE .

4RDRIL D8 x 52 mm

4R D1 LG5 x 50 mm

B riTrvirri T

ES (RIETH):60mm
:8mm

\
\

1>}

D
=

~

& RLPHRILEHZERDLEWVESICLTES L,

2 —EBIRMTTEEDRS:

4R DR LG5 x 50 mm

IR

ET (RETH):50mm
:2mm

\
\

1 >t

)
P
Z

~



79

3—13mMmAER—FDIHZE:

4ZRDAR)L+ @10 x 50mm
4ARD1ALM5 x 50 mm
b )
VR : 8mm
@® @
AANNNNNNY (=71 <«
® = @

A RCPRILEDZEED LAV SICLTLESVWLIEFADH DLV HICERDFT
BUOWTE TV I AEICBEDN BN FREEHRED D SR VESIE. EFIE
FHICRDOFFZEBELTE SV,

AERE

BEIH3ZUUTOEER—RICIFED T RVTIE S,



FllE 4

OISR DOFREMICIE L2 T Gecko % EEIZ LoD D EERD{F I 1
EEHREET,




81

FIE 5

o))
BUERIZBT ZATIToTLIEEL, [I_!][I_I)

GeckolZPhantom Z D3 T (B OEUT DAL TLoMD LD FT,
FARFIEEODTIFMLIIEN.mAEFERL TS0,
EEEEGECKOTTADERAHZ5E. TORDLSIZ. Phantom #71¥—X
2 HFEH>TEET B EBEHDLET,

— BT BB &Phantom Z Loh D EFFoTLWTLE S,
— Phantom (DK DT AL —A— B EFFL AR NKSICL TS L,

(O

— EXOfFF B IEPhantom OEFENA>TVWEWI L 2B LT TEL,

FIE 6

Phantom ZERICDHRTE T,



#2 :Phantom DA ZABTEET (+/-110EXT),

ARFEHAEIZERRIZ. LoD LAESNTVWSHIERL TS L,

#2 :GECKOIZ.Phantom®DMatte BlackFL&ICTEE T, H5—I—FIZRAL
9005T79,

BEDTITD,
CHELZEIBRIEEL
help.devialet.com

{REEHAE
25 fd

FHLLFTZ T ETBRIESL,
www.devialet.com



